wems, Opakovani MA

ROZKLADEJ:
543 = __ 9+1 = __ 8__ =5 \b}\d/
72 = S+4 = 6+ =9 \b/ \4/
842 = __ 73=__ 1-__ =0 A 9
104 = __ 5+5 = 4+ =10 4 3
S+4 = ___ 33 = __ 5 =2
93 = __ 246 = 3+__ =38 6 5
6+2 = __ 445 = 7__ =4
42 = 72=__ 2+ =9 / /
83 =__ 92 =__ 10 =2
94 = __ 244 = __ 7 =1 0 1

PRIRAD:
7+1+1 10-7+5 4+2+3

3-1+6 |[4+6-1 3+1+1

DOPOCITE]: 3 + = 6
1 + 9
+ 3 =9
+ 2 3
3 + = 7




POCITE]J:

6-6 = ___ 7-2 =
8-2 = 5+5 =
3+5 = 6+4 =
2+4 = 9-8 =
52 = ___ 7+2 =
58 = ___ 6+4 =
-1 = 3+3 =
3+4 = 2+4 =
56 = ___ S-7 =
5+4 = 8-7 =

VYRES MATEMATICKE PYRAMIDY:

VYPOCITE] SOUCET KOSTEK:

+ +

DOPOCITE]J:

10 -

10 -

@8

3+3-1
10-5+2
7+2-1

6-3-2
1+5-2

7-2-2
4+3-2
4+4-2
8-3+2
9-4+2

ROZLOZ:

10




